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Topic:- General Studies

1) Choose the best option to complete the sentence:

, tobacco farmers had not yet felt its effect.
1. Though a campaign against smoking
2. That there was a campaign against smoking
3. Even though there was a campaign against smoking
4. There was a campaign against smoking

Correct Answer :-

« Even though there was a campaign against smoking

2) I T UTHT FT I 32
L. g
2. BRAL
3. 3Rl
4. H&pd

Correct Answer :-

- gt

3) Find the median salary of workers of a factory given below (in rupees). / T PREAM & 'FITrI@ @t
3mg e & it ?, Aey oMy (FFU H) I Y

1210, 890, 560, 380, 980, 700, 700, 720.

1. Rs. 700 / 700 ¥=UUQ



2. Rs. 710/ 710 =UU
3. Rs. 720/ 720 =UU

4. Rs. 1210/ 1210 ¥UU

Correct Answer :-
e Rs.710/710 &4U

4) Who is the present chairperson of the National Human Rights Commission? /?Tg']'q UHATRIBTR TART & TaHT
AL DI 2

1. Justice Shiva Kirti Singh / i g if i
2. Justice K.G. Balakrishnan / SIREH doit ST
3. Justice H.L. Dattu / STR¢H TIUd &

4. Justice Gyan Sudha Mishra / STREH I T iy

Correct Answer :-

e Justice H.L. Dattu / STREH TEUA &,

5) The following question is based on an encryption system in which / Frauy Udh T{ﬁﬂl’ﬁ HoTTert
w3yt § form

You are watching cricketis coded as Wa Cr Yo Ar | You are watching cricket &1 Wa Cr Yo Ard

IS frar srar @
Cricket is a sportis coded as Yz Sp I Ar | Cricket is a sport &\ Yz Sp I Ard ®\f&d forar wirar g
You are a kidis coded as Wa Cr Yz Ki | You are a kid & Wa Cr Yz KiQ ®ifed far &ar g

What is the code word for Cricket? / Cricket & fod +is QMo AT %?
1. Wa

2. Cr

3. Yo

4, Ar

Correct Answer :-
o Ar

6) The product of two rational numbers is always / & ufrg S=nai &1 Uk d,

Hed TP g1 g
1. A positive integer / YdTHD U;Ul'fa?
2. A negative integer / BUITHD U;UTW

3. A rational number / TREY T



4. An irrational number / URAY AT

Correct Answer :-

« A rational number / TRET BT

7) The main function of blood platelets is to help . | TR et &1 ygw st
W HeTadr ST gl 2l

1. form urine/ﬂﬁﬁﬂfﬂ
2. excrete urine /IEGT\EITYT:T
3. clot the blood / I&d &1 YaHT THA

4. form sweat / wWg Ao

Correct Answer :-

e clot the blood / I BT YFHT STHA

8) Choose the appropriate prepositions for the given sentence:

Wearegoing ~ avacation __ the end of August.
1. in, of

2. of, at

3. by, until

4. on, by

Correct Answer :-

9) Permanent hardness of water can be removed by addition of . / T8 BT VT FSIRU= *
e g gR foran ST wwar 21

1. calcium chloride /%%mm FIRES

2. magnesium carbonate / ﬁ?fﬁf?rqrr EFIET_:E'

3. sodium carbonate / TSTH Hla-c

4. magnesium sulphate / TREH Tehe

Correct Answer :-

e sodium carbonate / qfsTH prae



Two bicycles are sold at Rs. 1,920 each. On one, he earns a profit of 20% and on the other; he incurs a

loss of 20%. What is the overall result? / 1,920 Fq'quﬁf mgm%%m I T:?f ngﬁ‘ma?ﬂ TI%I
TH W, 3 20% ATH YIS 34T MR G WR, T 20% B g3 | T uf¥ony & 32

1.4%loss /4% © o
2. 4% profit / 4% AIYH

3. 2% profit / 2% dIYH

4. no profit, no loss /:raoﬁéam, qﬁ%%’lﬁ

Correct Answer :-

e 4%loss /4% @ &

11) Who took over as the 25% Chief of Air Staff? /253 Tt WWW% ¥U # Ug fram SyTan?
1. Air Chief Marshal Arup Raha / TR e arsfa 3BY Bl

2. Air Chief Marshal B.S. Dhanoa / TR It AT STy T

3. Air Chief Marshal N.A.K. Browne / T e aria Tqu & SIS

4, Air Chief Marshal S.P. Tyagi / TR @it Trefd Tt arh

Correct Answer :-

e Air Chief Marshal B.S. Dhanoa / TR Tt AT &t TF Y131

12) Rajat noticed one of the lakes in Bangalore with dead fishes floating around & covered with
a slimy green substance. The reason for it could be WAL G G| aETﬁ? aﬂﬁ?ﬁaﬂ U
it & g gofi 3eR-3eR &R 1 & iR Tt ghie 7ie fraferd &% uerd @ siga 81 5wt
DRI g aHar g

1. leaching / F&fTa (Fﬂﬁl"l)

2. eutrophication /W (@Wﬂ)
3. chlorination /Tﬁﬁﬂ:ﬂ

4. chemical contamination /WW

Correct Answer :-

« eutrophication /gqﬁw (@Wﬂ)

13) Choose appropriate articles for the given sentence:

Anita remembered going with group of friends for expedition.

1. a, the



2. an, the
3. the, the

4. an, an

Correct Answer :-

e a,the

14) The Pradhan Mantri Ujjwala Yojana launched on 15 May 2016 aims at 1 'Flé 2016 BT ‘{Raaﬁ TR e
IS IeTT BT a8 gl

1. Providing LED bulbs to economically backward classes. / s U ﬁl@_g T b ﬁﬂ’ Q?Ié_epf dod UglH hAT

2. Providing LPG connections to women BPL households. /m IRaRY ﬁlzl'%?ﬂ&h %ﬁ‘m QﬂTﬂGﬁ DR SUATR] DRI

3. Providing education to girl students below the age of 16. / 16 Y ¥ B I Pt TESfHal I FRI& UM BT

4. Providing loans to women entrepreneurs. / Tfge I & 0T e AT

Correct Answer :-

e Providing LPG connections to women BPL households. /a°rtﬂ1za IRaRY ﬁrl'%f“ﬂ\?ﬁ %ﬁm QT‘I'CﬁTrﬂ DR SUTR] DRI

15) o1 srordi & g, W, gom enfe WTa waferda gid & auT e I arq & fodt ug 9
TE1 BYdT, 3¢ Ped & |

1. GrEREIYD

2. GTSIY®H

3. fAuTd

4. fowafeaiys

Correct Answer :-
. f[owarfeays

16) 3ITTR, M, fHd= 9YT AN fFy W & Taigar 82
1. gd

2. R
3. Ol

4. 0d

Correct Answer :-

e WY



17) The outer planet Uranus spins about its axis from . /ﬁ'l?ﬁ P W, 3T
TR gaar gl

1. east to west/t@c@q@q
2. west to east / qfgH I Elj

3. north to south /W@EF&I'UT

4, south to north /Ef\&l'UTﬁ 3R

Correct Answer :-

« eastto west/q\_qiﬁtlf%ﬂ:[

18) 14—10'|:5ﬂ-i5: [ 64 &1 14—1
1. 196
2.210
3. 176

4. 180

Correct Answer :-

e 176

19) If IJKLMNOis coded ACTVSRX, then how is KILL coded? / Tfé IJKLMNO & ACTVSRX A
PIfsd f5ar oIrdar €, af k7LL Y 4 SIS forar sRm?

1. TVSS
2. TAXX
3. TAVV

4. TSV

Correct Answer :-

20) T[Tl Tiea wray g8 Ifea fraat 32
1. AT

2. $d®

3. HIHg

4, fearafor



Correct Answer :-

21) Choose the correct form of tense for the given sentence:

We can go out now. It any more.
1. doesn't rain

2. didn't rain

3. isn't raining

4. never rains

Correct Answer :-
« isn't raining

22) Evaluate the following using a suitable identity (922-82). / SUJdd AIGIed HT SUANT HYd g
Frafafaa &1 geaied &9 : (922-82)

1. 842
2. 84000
3. 8400

4. 9846

Correct Answer :-

e 8400

23) Choose the correct form of tense for the given sentence:

I ___ in Bangalore in the middle of September 2005.
1. has arrived

2. arrived

3. had arrived

4. arriving

Correct Answer :-

e arrived



24) Choose the correct form of expression to complete the sentence:

We are extremely sorry to lose Johnasan ___ in the machine shop.
1. employer

2. employee

3. employed person

4. employees

Correct Answer :-

« employee

25) How many lines of symmetry can be there in a regular hexagon? / Tdh THCT

USH ¥ AW @I fodel T@IT g1 Thall 87

1. Two/a
2. Three /?ﬂ_"f
3. Four / dIR

4, Six /'9:

Correct Answer :-

e Six/9:

Topic:- Radiotherapy Technician

1) Which is INCORRECT statement about tissue air ratio? / S d® dIg UTd (ﬁﬂ@?
IR F IR A P AT $UT T 87

1. It increases with field size. / Ig & PR &b 1Y dedl %I

2. It is independent of SSD. / Ug W@Eﬁ I gda % |

3. It depends on depth. / Ug TIBTI% L°CY ﬁ“—f\" hIdl %l

4, Tt is independent of beam energy. / Ug Wﬂﬂ ol ¥ Wad % |

Correct Answer :-

« Itis independent of beam energy. / g Ira’J‘{UIEi\II Sl O W %I



2) Cancer and genetic defects are examples of effects. / IR 3R Gﬂf[a'm qy,
THTIT & SETERT 3 |

1. Stochastic / THHTH
2. Non-stochastic / ﬁT-Wﬂ-ﬂw
3. Deterministic / ﬁfw

4. Birth / o H

Correct Answer :-

e Stochastic / UHHTH

3) Which one of the following statement is INCORRECT with regard to the rules for series

circuits? / 5T uudl & o & Ty o fFrafefag & @ o919 91 oy Ted 82

1. The total resistance is equal to the sum of the individual resistances. / P U WRIY, Thdl UfeRIdl & A

P WR A2

2. The current through each circuit element is the same and is equal to the total circuit current. / G

giRaY d@ & H1e ¥ YRT THH gidt § adl $d IRUY YRT & SRR gl 8

3. The sum of the voltages across each circuit element is equal to the total circuit voltage. / U gRuY

I B oRA aTell dieedl o1 TN, $d URYY dieedl & sRIR 8idl ¢ |

4. The total resistance is the inverse of the sum of the reciprocals of each individual resistance. / <1

Ui, UA® U UfeRIY & bl & TN &1 Ufdad gid g |

Correct Answer :-

» The total resistance is the inverse of the sum of the reciprocals of each individual resistance. / Pl

TRy, Uds Ushd UfaRIY & GebHl & AN T UfdaH gl 6|

4) In which of the following type of X-ray interactions with matter is the energy of the incident

photon partially absorbed? /uerd & |1y ATy Tusi & UPRI A A frad 3 aret werq
B St SHIFR1P T F aya w2 ot vt g2

1. Coherent / Jad
2. Pair production / JTH 3T

3. Compton / 1HICH
4. Photoelectric / THTRIAGAA

Correct Answer :-

o Compton / PHIed

5)



Which of the following contributes significantly to the exposure of the radiographer? / fsarmer

F Ioru & fou fufafad A 9 9 uHTd U 8 IR1eE H3dT 82
1. Positrons/tl'\fm\f:f

2. Electrons / 3@7@%‘[
3. Compton scattered photons / S JbIfod Wiei-

4. Compton scattered electron / HIgT gifofa E@I?Ej%[

Correct Answer :-

» Compton scattered photons / S JbIfod Wici-

6) Doses greater than 0.5 Gy result in ./0.5 vﬂar«.{ (Gy) I Wlgl CAR:IEI (@:']Trl')
o1 gome gargl

1. Oligospermia / 3{eUR[ShTUIdT
2. Hormonal balance / Eﬁﬁf‘_‘[ g K

3. Azoospermia / 3L TUdT
4, Permanent sterility / Yt ‘D’W

Correct Answer :-

« Azoospermia / b TU[dT

7) Cobalt 60 has a energyof ./ PIaTeT 60 H . P St gidt %I
1.2.26MeV / 2.26UHgAl

2. 1.26MeV / 1.26THs4t

3. 2MeV / 2UHgA!

4.2.21MeV /2.21TH3at

Correct Answer :-

. 1.26MeV /1.26THSA

8) Which one is NOT a gas filled detector? / 1T T T T GIRT =T URT TIT TYAP 8?2
1. Tonization chamber / 3TI-IHUT H&f

2. Photomultiplier tubes / UPIR] saq;Tﬂ dasfe :IW'\QJ

3. Proportional counter / GHHQ'W Ucd
4. GM counter / SI1TH B3R



Correct Answer :-

« Photomultiplier tubes / UDIRI 581d§T"| dasfe :IW

9) Where is the penetration power greatest in? / Sfrmaw aeH fed frad gidt %?
1. Alpha rays / 3{etpl fopomt

2. Beta rays / Sitet fopron

3. Gamma rays / ITHI ICZI]

4. Neutrons / mjﬁr

Correct Answer :-

« Gamma rays / ITHI fopxunt

10) Which of the following instrument should be used to locate a low level radioactive

contamination? / FAfIfEa & & fvw SumRur &1 sxawTa foe1 Wt YSareHt dSguor &t uar
I & forg foear s anfge?

1. GM counter / SITTH HTICX

2. TLD / ¢qaS!

3. Cutie pie /EPICPI m‘s‘

4. Proportional counter / HHW Ucd
Correct Answer :-

e« GM counter / \_rﬂ'@:f D3R

11) Select the appropriate definition for protective barrier occupancy factor. / JR&T 9147
SfUURT FR® & forg I ufvureT &1 799 F9

1. The quantity that best describes the weekly radiation use of diagnostic X-ray. / HIAI, S '?Idli'\'lcb QOR-I—%

DT JTdTies [3fHR0r ganT gatar =9 & aftfd s 81

2. Quantity that was introduced to select this fractional contact time. / HIZ, oY siifRIes ¥udh 9wy &1
TG H o ferg feram 7 1|

3. Modify the shielding requirement for a particular barrier by taking into account. / U fAfera arer o forg
& 3G §U URRE® TaFDHal HRNTAT HAT|

4. Energy of the scatter radiation is equal to the primary radiation. / U0 fafezor ot EG”, TUfires
fafep=ur & w3

Correct Answer :-

» Modify the shielding requirement for a particular barrier by taking into account. / Uch BIEGEICIED ferg
& 3G §U URR&® MaIDHal HRNTAT HAT|



12) Milliampere second (mAs) per week is used to determine . 1 ufa e iR
Abe @ATTE) ) Freifvd S & Rrg wahT b o 21

1. Use factor / U R
2. Work load / &Td HRR
3. Occupancy factor / SYYTT PRDB

4. Distance factor / @ DRp

Correct Answer :-

« Work load / T 4R

13) Which of the following characteristics primarily differentiates the probability of occurrence of

the various interactions of radiation with human tissue? / fFaforRaa & & @19 W faiwar I =4
A AT Hae! & a1y fafevor & fafira Judh g 91 ge 9 wikiear o fadfea ot 32

1. Exposure time / 3:&IT HT

2. X-ray beam intensity / TR WTQT:I GIEGI

3. Direction of the incident photon / YcIl BicH &1 fa=m

4. Energy of the incoming photon / 3 9T BIelF &1 Soll

Correct Answer :-

e Energy of the incoming photon / 3T aTd BIei- ®T Sl

14) Which of the following statement is INCORRECT with regard to X-ray interaction with

matter? / UGTY & ATY THH-Y SaRfhal & Aoy A I & A SI9 IT $Y Tad 82

1. To image small differences in soft tissue, one must use low kVp to get maximum differential absorption.

/ BT JHad T G 3Rl & =01 & g, siftierad faued fa=ivor e & o farddt &1, =g
ATt AT HAT AR

2. The interaction of X-rays with tissue is proportional to the mass density of the tissue regardless of the

type of interaction. / 3{ARTh AT b UHR W &M U foHT, TR B SHdd A R(hAT, SHdd &
SIH Td b FHTUT 8Tt 2

3. Differential absorption increases as the kVp increases. / Tt aa%r & 1Y favesd gy dedl gl
4. Differential absorption increases as the kVp decreases. / HATdT ged & 91y faved sra=nyur dedl %’I

Correct Answer :-

» Differential absorption increases as the kVp decreases. / HA1dT ged & 91y faves sfa=nyur dedl %I



An atom is said to be electrically neutral when the number of ./ Y QIHIY],

fagud ©u @ IR T AaT 8 o |
1. Protons is equal to number of electron. / e 31:1? 3@5@’:[ P TBAT SRTER @?ﬂ %I

2. Neutrons equals the number of electrons. / rﬁl\g‘:l/'-l 3R sad§Tﬂ D1 Y- SRR Bl %I

3. Protons equals the number of neutrons. / LI\I CT"I 3‘ﬁ? *i;\ll"l T T SRR _@T‘ﬁ %I

4, Protons equals the number of nucleons. / e G‘ﬁT rij\lfaﬂ\’rﬁ:[ &1 =T SRR Eﬁ?ﬁ %I

Correct Answer :-

« Protons is equal to number of electron. / L—I\I CT"I 3‘ﬁ? sadtj"l &1 =T SRR Eﬁ?ﬁ %I

16) The process of releasing energy by emitting particle by an unstable nucleus which

transforms to a stable one is called ./ Gh SRR AP & GRT HUT IHSH HId
TU ol Bl & ufshar, st fb fRR ) TuiaRa s dt &, Heardi gl

1. Stable nuclei / TR A1fHH

2. Half life / 31¢f 3

3. Transition / HhHUT

4, Radioactive decay / st e

Correct Answer :-

 Radioactive decay / et e

17) Which of the following target is used for a linear accelerator? / Y& @ A

frafafad & @ S 91 dea Tgad a1 22
1. Rotating target / 'H;Uﬁa&q

2. Stationary target / Rfdd qea

3. Transmission target / UHRUT <&

4. Steel target / RTId <&

Correct Answer :-

« Stationary target / Rfds qea

18) Which one of the following use factors is recommended by the International Commission on
Radiological Protection for primary barrier when uses at the X-ray room floor? / Qa'\q-% D& I WX
TN 3 W), Wufies arer & g WeatuHf gram w sz smav & g, Fafafea war
PRI 0 A B AT Rifaa fopar mar 32

1. Full use factor / ‘CI;UT TN HRD



2. Partial use factor / 3B YA HRPB

3. Occasional use factor / HTHH TN HRP

4. No use factor / 3TINT HRPB

Correct Answer :-

 Full use factor / EI;UT TN HRB

19) The recommended monthly dose limited to the embryo or fetus is A UK

e RgFRediftdgaaReamEs) . 2
1.0.05mSv

2.0.1mSv

3. 0.5mSv

4, 2mSv

Correct Answer :-

¢ 0.5mSv

20) The dose level an individual engaged in non-life saving activities during radiation emergency can

safely receive per event. / fafepor mﬁ%aﬁ, R-sftaq & wfafaferay #
"o oafaa, qRfga o d Ufe g1, "I WR (SIS A9d) UTed B bl gl

1. 10 mSv
2. 30 mSv
3. 50 mSv

4. 100 mSv

Correct Answer :-

e 50 mSv

21) According to AERB, what is the average annual radiation exposure dose allowed for a

radiation worker? / Q'S:S'I'Rﬁ & SR, fafezor st & ﬁl’Q’ W 3N arftfe
fafervor Igra= v fea-t 82

1. 0.5 mSv
2. 20 mSv
3. 5mSv

4. 10 mSv



Correct Answer :-

e 20 mSv

22) Cataract, skin erythema, sterility, radiation myelitis, and fibrosis are all seenin

effects. /nﬁﬁmﬁl——q’ % e (= 3R, srgdvar, R fvvsity, aur
dgagar, @t gyEi H W W

1. Stochastic / AHT (@m

2. Genetic / 3{difRIH
3. Chronic / FeR@I(eId (i)

4. Deterministic / ﬁﬂw

Correct Answer :-

o Deterministic / ﬁaﬁvm

23) Due to heel effect, which side will the radiation intensity of the beam reduce in X-ray

gbe?/ﬁaum$m,m-%mﬁmﬁﬁ%{m?ﬁwmmww

1. Cathode side / S UL

2. Anode side / TS BIEG

3. Between anode and cathode sides / Fﬁ‘s’ GﬁT %%ﬁ‘s’ uma‘f% EIg)
4. Central axis / ol 3f&f

Correct Answer :-

o Cathode side / %ﬁh@; QTQé

24) Todine - 125 has 53 protons and 72 neutrons in its nucleus and its decays with half-life of 59.4

days by a process called ./ TS - 125§ 53uﬁ'c"|'=r%'amsﬂ%=|ﬁ‘wﬁ 72%77'[%'?[?-IT
s uferar o H81 9ITdT 8, P §RT U, 59.4 fa &Y 3ref 3y & 1Y &g gan 31

1. Attenuation / &I

2. Electron capture / sa?@'\ll_"l ELR!

3. Pair production / JTH-3ITG

4. Photodisintegration / UhRIfaged

Correct Answer :-

« Electron capture / E@IEE:I’T—[ ELR!



25) When an electron combines with a proton, it is said to be ./ Sld Uh Eﬁﬂfﬁl, Udh

WA Jeare, disd FET AR
1. Electron capture / Sa_CE:VI:T YT
2. Nucleus / FTfH&

3. Atom / UXHIY]
4. Neutron / =€|§T:r

Correct Answer :-

« Electron capture / E'a?@:ﬁ YT

26) is an area outside the target that receives a higher dose than the specified
target dose. / &I & T8RP & ¢ ot fafkry @tga v & siftres wra &1 wre
FRAT G

1. Hot spot / dtd Ric]
2. Cold spot/QﬂﬁW

3. 1TV / 3gcid!
4, PTV /UIcIat

Correct Answer :-

» Hot spot / dtd &IcT

27) Which of the following options is useful for radiography imaging when target material used as

tungsten"/Wmﬂ%mmﬁﬁﬁmﬁmmgﬁaﬁrﬁm
e & U § YN BT St 82

1. K-characteristic X-rays / o-3ffHaT&0M® TRIX

2. L-characteristic X-rays / Q?T—\Hf\ DSIIED Qa'\q—%
3. M-characteristic X-rays / TH-3ifHcefors W—%
4. N-characteristic X-rays / Q:T-&If\ DGIEAINED Qa'\q-%

Correct Answer :-

o K-characteristic X-rays / - SHYT&IOS TH-X

28) Which one of the use factors is recommended by the International Commission on Radiological
Protection for primary barrier when uses at the X-ray room doors and walls? / Y- 3 B gIarell
YT aRT W TART $A W, WAfie arer & fog yfearedi gean w siaxfgia s & gy,
ﬁwﬁf@amWﬁﬁﬁﬂmmmmm%v



1. Full use factor / EI;UT TR R
2. Partial use factor / RH YA FRB

3. Occasional use factor / 3THRHD TN HREB
4. No use factor / ST hRh

Correct Answer :-

« Partial use factor / 3{TR® TN HREB

29) Thickness of absorbent that decreases the incoming radiation dose by 90% is ./

SARNYS B HIeTS, S 31 aret fAfPRor S AT B 90% TF FA DI R, T8 ol
1. HVL / TIdTtd

2. EDW / 3oi8&qg,

3. TVL / ¢ldiqd

4. MLC / THTqHL

Correct Answer :-

. TVL/<ldud

30) What is the filament embedded in a metal cup called as? / YTg PYU H 3fd: wTfud

framdc w1 Feadr 82
1. Focusing cup / BIDHRIT HY
2. Cathode / %Qn_é

3. Anode / Q:ilg
4. Stem / &H

Correct Answer :-

« Focusing cup / Bl RT BY

31) Below lists are types of cooling method in X-ray tube, EXCEPT for / G|

Srsor, 9 gimr vy Afere A e+ faft & ver 71

1. Conduction / dTeld

2. Convection / Tdg-
3. Radiation / fafdzor

4. POTENTIAL energy / fUfaS Soi



Correct Answer :-

« POTENTIAL energy / FUfTS Sl

32) Interaction of X-ray photons with any atoms of biologic matter are .1 Sfaw u'c{ref%

g wuTupe & 1Y UEN Wiell o sfafepar, @l

1. Able to be pre-planned to selective atoms in order to limit radiation exposure to those atoms / 9gfd

RATLST ¥ fafeor I Wd H31 & fow 391 gd Ao d &

2. Important only in therapeutic radiology / Had SUARIAD Sararen A n‘s’c—crqpf

3. Random in nature and therefore the effect of such interactions cannot be predicted with certainty /

yepfa ¥ arefese SR Safu 7 siakfbanalt & wTa &1 Ffkddr & Ay yafgem et e s
SETH

4. Unimportant in diagnostic radiology making radiation protection unnecessary / W NERINISIE
Tg@yUl 8t ot fafh=ur YReM BT SRS §1d §

Correct Answer :-

» Random in nature and therefore the effect of such interactions cannot be predicted with certainty /

Ughia B aefasd SR SAfT 37 siaRfransii & uHTa &1 Affrdar & Y gafgae =&t avman s
b dl|

33) During a gamma emission, the nucleon number is changed by ./ T TTHT

SIS & R, YfFasHBT & gRIFGH oIl g
1. Definite / fAf8d

2. Zero / [

3. Increases by 1/ 1 ¢ STl §

4, Decreases by 1/ 1 ‘EI_C'\_rl'IT‘ﬁ%

Correct Answer :-

34) How is the unit of nuclear binding energy expressed? / ST deq el i E'H"Tl'g
fa v yefiRfa $ord 32

1. kv /&bat
2. eV/éTJﬁ
3. MeV / THS AL

4. Joules / [cT

Correct Answer :-



35) Which of the following statement is CORRECT regarding the properties of X-rays? / 'QW—% 4|

fodwareft & Wey § Fufafea d A s s ad @2

1. They are non-heterogeneous. / 3 TR-fawreTdg %I

2. They move at the same speed of sound. /9 G & FHM Tid IR Fadt %I

3. They can be focused by lens. /3 T & GRT diod D1 oIl g %I

4. They cause fluorescence of certain crystals. / q ) foreeet ot ufcrdiitd I Hddt %I

Correct Answer :-

» They cause fluorescence of certain crystals. / q ) freeal @t ufadify s Hdt g |

36) Which of the following statement is CORRECT regarding X-ray production? /QER‘T-%

IdTeH & oy & fAg A A HI9-971 919 T8 82

1. Characteristic X-rays are emitted when an inner shell electron fills outer shell void. /

afua%&ﬁﬁraﬁqaﬂ-%,aawﬁfasﬁ?ﬁ%ww 3R PR BT 3aiagH, Rad T8 BN B
RAT R

2. Only the L-characteristic X-rays of tungsten are useful for imaging. / ¢TReH &1 Had Ud-

ST OTh TRIX B B U b & fore Suanf g

3. Bremsstrahlung X-rays are produced when a projectile electron is slowed by the electric field of
a target atom nucleus. / SR TR I S 8Id! § o1F U Y& SaiaeH, Th A
TR AT & fagad &7 gRT v o fear A g

4. In a diagnostic imaging range, most X-rays are characteristic X-rays. / G Farfe femor gof

H, SHRIH R TogY, SHfiernaftis TeX gidt 21

Correct Answer :-

« Bremsstrahlung X-rays are produced when a projectile electron is slowed by the electric field of
a target atom nucleus. / &H%glc'i‘l QGR-I-% dd 3dd Eﬁ?‘ﬁ% old Wu&?v:r 3@3@:{, Th d&g
TRHATY] TN o fagad & gRT 411 R faur oIl 3 |

37) Which of the following system is the most radiosensitive vital organ system in human beings? /

Frafafea & & 1= @ gomed a3 # 9ad sifte Yeat-ddg=ie agayut oiv yumedt 32
1. Cerebrovascular / THRISHATH I (@Wﬁw

2. Skeletal / DI
3. Hematopoietic / TadidTad

4. Gastrointestinal / ST&H



Correct Answer :-

» Hematopoietic / JaAIdIGH

38) The intersection of the axis of rotation of the gantry, axis of rotation of the collimator

and axis of rotation of couch is called ./ ﬁ'gﬁ% Q:Uh 3Hef, PIAHR B quﬁ & dUT
WRUI Uee & ol 3r&f &1 ufasded, Hgara gl

1. Isocenter / W

2. Isodose / JHHTAT

3. SAD / TqUS]

4. Output factor / g sR®

Correct Answer :-

« Isocenter / HDG

39) Biologic effects such as cataracts that result from exposure to ionizing radiation appear to have

which of the following? / Sfd® THTa, SF Mifaarfa= st smawR} faferzor & Iga &
YAy giat 8, § fAufefad # @ feaer g udia grar 82

1. Circular dose response threshold relationship / Q?ﬂ'q YR[h gfafear guTaiar dey

2. Linear non-threshold dose response pattern / G TR- HTIHT YR (@ﬁ\_:l) gfafear ufaesy

3. Sigmoid threshold dose response curve / SaUgEU YT WR[h (:";1\_50 yfdfear asm

4. S'ig'moid non-threshold dose response relationship / 3qUgTUl TR-gHTAT WRH (@ﬁﬁl) gfafear
REL

Correct Answer :-

» Sigmoid threshold dose response curve / AUyl THTERHT YR (_6P|\_r[) ufafear a%

40) Which of the following is the unit of collective effective dose? / faddeN '\‘:I'I'I{I%?s TUTa
RIS (SToN) B DTS 87

1. coulombs per kilogram - sievert / ufd feaamm D - Htad
2. gray - sievert / DT

3. person - sievert / fad - dae

4. rad - sievert / X8 - e

Correct Answer :-

e person - sievert / fad - dae



41) Radiation induced chromosome damage may be evaluated during which of the following

%rocess?/waﬁﬂw&‘ﬁ,mﬁﬁmm%mwaﬁmm

1. Prophase /Wﬂ
2. Metaphase / HHTIXT
3. Anaphase / UHTARIT

4. Telophase / 3{ATARIT

Correct Answer :-

o Metaphase / HETARIT

42) is the fraction of the radioactivity in the sample which is present in the desired

%hemical form. / H@ﬁi‘%ﬁﬂﬁfmm%ﬁﬁwmwﬁm
|

1. Radiochemical purity / REINGIRIBED Re&dl
2. Radioactivity / YfSarufifar
3. Radioactive emission / S YH ST

N

4. Radionuclide purity / X Y[dellg s el

Correct Answer :-

« Radiochemical purity RECINRIRIRED e dl

43) During radioactive handling, the clothing of the individual that has been contaminated should be

. et i) B1d & R, Ffdd & Hus o Agha 31 W E, S
1. Burned imediately/ﬂ?ﬁﬂﬁﬂﬁﬁl

2. Placed in plastic containers and set aside for later evaluation / i fesai H a1 1 %m%u adr
qIe ¥ gedic o g Sfer g1 91fgul

3. Shaken out and put back on / ATSH C:Idl(l Uo- NEIke! %QI

4. Aired out on a clothesline to decontaminate / ﬁm'g;w * ﬁﬂ TUh dR IR gdTl H 31 fear S aT%'QI

Correct Answer :-

» Placed in plastic containers and set aside for later evaluation / e fesal H a1 ST aT%'Q ayr
qTe § gedich1 o foTu 31T &1 A1 Ul

44) Threshold dose for permanent sterility in women is ./ Tl & wurit GIﬂﬂ?_dT &
fReyyef AT @y . B

1.0.5t02 Gy /0.5¥ 2 Gy



2.3.5t0 6 Gy /3.59 6 Gy
3.0.5t0 1 Gy/0.59 1 Gy
4.2.5t06Gy/2.59 6 Gy

Correct Answer :-

« 25t06Gy/2.596Gy

45) The Use factor (U) taken for calculating thickness of primary wall of a standard LINAC
facility is ./ AITFI® AT31® (LINAC) Jfaem &t uryfire fufRy @1 dierg &1
AT S & I o S are v aR& (@) 2l

1.1

2.12
3. 1/4

4. 1/16

Correct Answer :-

. 1/4

46) Which of the following instrument is used to calibrate radiography equipment? / IrsaruTwt

IUPHT F 3w P fore Fufafaa & @ fea Iusor 1 A fHar siran 82
1. GM detector/mw (Gﬂ@%ém

2. Proportional counter / 3‘|Tﬂ'tﬂﬁ$ Ucd
3. Ionization chamber / 3TIIHRU H&f

4. Pocket ionization chamber / SI& HTITEH T DE

Correct Answer :-

« Tonization chamber / HTITHI0T BH&f

47) What is a free radical? / Yo TP P IEHa) T 87
1. An atom with an even number of electron. / Eﬁaﬁ'ﬁ D qH HBAT ATl U UIHI |

2. A chemically stable atom. / U IS &9 ¥ fRR GRAM]|
3. Any charged particle. / D5 AT HUI|

4. An atom or molecule with an unpaired electron in the outer shell. / CIREINE] &gﬁilﬁ
3@’0@7{ dTedl Udh YHTY[ YT U |



Correct Answer :-

» An atom or molecule with an unpaired electron in the outer shell. / Eﬂ%ﬁ CARIRE] GPIﬁEI?T
saa@a drell Ueh UHTTL T ]|

48) Which of the following is natural sources of ionizing radiation? gAY

PRI fafe & nepfae wWia &2
1. Medical X-rays and cosmic radiation. / fafciia T a1 siie g fafdru|

2. Radioactive elements in the crust of the earth and in the human body. / q%ﬁ 3| dled Ud T
A YRR H ASaredf aq |

3. Radioactive elements in the human body and diagnostic X-ray machine. / T IRR YT

T Teg #efia A ey aq|

4, Radioactive fallout and environs of atomic energy plants. / wm X dYT UHIT] Sl
Al B TRYCT|

Correct Answer :-

« Radioactive elements in the crust of the earth and in the human body. / q%aﬂ D1 ST IR qT
AT TRR # feaeHt da

49) In cobalt 60, what is the geometric penumbra of the beam dependent on? / PIFIET 60 ﬁ,

frvorgw &t sarfirdta SuwsTar f$a w snfda gt 82
1. Source size / TAId STHR
2. Field size / 833{ DR

3. SAD / THUS]
4, Energy/@@i

Correct Answer :-

« Source size / TId THR

50) The concept of tissue weighting factor is used to do which of the following? / Sd® HIRTH

PR B AquURYN, g # I = w31 & fore ugh gdl 82

1. Account for the risk to the entire organism brought on by irradiation of individual tissues and organs. /

THA HAD! qUT 3T & fHRUM gRT X Sitd P gU Shed &1 gl |

2. Eliminate the need for determining effective dose. / Tt YR[h Ui S P agHdl i
HHTW DT

3. Measure absorbed dose from all different types of ionizing radiation. / g fafta U R & e Rt
fafeh T & SraRNfS Hr= AU



4. Modify the radiation weighting factor for different types of ionizing radiation. / fafF ypR &
3T R} fafehRur o ferw fafhur HRTehT HRep FRNTeUd BT

Correct Answer :-

e Account for the risk to the entire organism brought on by irradiation of individual tissues and organs. /

THA HAD! qUl 3N & fHRUM gRT X Sitd P gU Sy &1 gl

51) Which one of the following statement is INCORRECT with regard to the rules for parallel

circuits? / FHTATGR URUYY & ot & Gay & 9 & & 919 I1 Sy Tad o2

1. The sum of the currents through each circuit element is equal to the total current. / Td® IRUY dd 9

BIHR TOIRA aTel RIS BT TN, T URT &b SRR g |

2. The total resistance is equal to the sum of the individual resistances. / Wmﬂ, Wm‘m gy

P RIS AT 3|

3. The voltage across each circuit element is the same and is equal to the total circuit voltage. / oL

ROy I & TORA dTelt dieed!, AT 8l § T $d URUY dieedl & sRISR gl |

4. The total resistance is the inverse of the sum of the reciprocals of each individual resistance. / Pl

Ui, UA% U UfeRIY & bl & TN &1 Ufdad gidr 8|

Correct Answer :-

o The total resistance is equal to the sum of the individual resistances. / wuﬁ?‘ru, Wm%ﬁ & gy

P RIR ga gl

52) The half life of *°Mo is ___ hours./ 99@3ﬁ3§’r 3ref g He gidt %I
1.5

2.65.9

3.8

4. 48

Correct Answer :-

e 65.9

53) What is a nucleon composed of? / ?I%T\’rﬁ':[ H T ﬁ?ﬂ%"
1. Electrons and protons / ‘s’éaejq GRIRIGIE]

2. Neutrons and electrons / *ﬂ\g\fﬂ 3R ‘éaquﬂ

3. Protons and neutrons / e GhT QET:[
4. Only Protons / &ad UeH



Correct Answer :-

« Protons and neutrons / UIe19 3R rﬁl\g\ll"l

54) The measurement of the thickness of patient from the point of beam entry to the point of

beam exit is called /mmﬁgﬁmmﬁgaﬁﬁﬂaﬁ
HIeTS &7 1Y, ERE iG]

1. Exit beam / b1 fh0rgS
2. Dmax / SIHET

3. Separation / YUdh U

4. Entry beam / Tax WTQG[

Correct Answer :-

« Separation / YYdhT[

55) What is BSF independent of? / ST {5y | W gidT 82
1. SSD / THUHS!

2. Energy / ol

3. Field Size / &7 3THR

4. Source size / T 3MHR

Correct Answer :-

. SSD/THTHS!

56) External electron beam can be shaped by ./ STEY sﬁaﬁ? ﬁT\"UTE\_rT Cg|
& GRT PR fear s Awar g

1. Wedge/q'ﬁﬁ(aﬁl)
2. MLC/QHQEM'

3. Cerrobend blocks / @ﬁé@: Ts

4. EDW / S8le&g

Correct Answer :-

e Cerrobend blocks / @Rﬁg He



1. Increased energy / S@l §§ 3ol
2. Decreased field size / YT 31 & HR

3. Increased depth / qel E_it RIS
4. All of the above / SURTeRT JHt

Correct Answer :-

« Increased energy / Q—Gﬁ E"{f Sl

58) Which of the following statement explains the inverse square law? / B anE:|

I b d 91 gy &1 aftfq wwar 32

1. For every action there is an equal and opposite reaction. / TS [T & fore T HH 3R
o wfafoman g1t 81

2. Product of current and kVp and time. / YIRT T HAIdt T IHY BT NUEEIY

3. Intensity is inversely related to the square of the distance from the source. / GIEGIRCIGES @ &

I P P AU It 2

4. The voltage in the two circuits is proportional to the number of turns in the two coils. / al

oRkaf & e, §1 Haferdl o HIS! Bl TeAT o FHTIAT Bidl g |

Correct Answer :-

« Intensity is inversely related to the square of the distance from the source. / GIEGIRCIGES @ &

I & LPHTIUT It B

59) What is the dose rate of HDR? / TSR P HAT <X (SIS <) T 8?2
1. >0.2Gy/min

2.>0.2Gy/hr

3.>0.2cGy/hr

4, <0.02Gy/min

Correct Answer :-

« >0.2Gy/hr

60) Magnetron is a device for producing ./ ﬁ'ﬁﬁ? SUAFHD ﬁrq Udh
UERS

1. Electron / 3@5@%{

2. Photons / TIeld



3. Microwaves / Wﬁ&q

4. DC power / ST giaR

Correct Answer :-

e Microwaves / rnsaﬁéaq

61) According to the magnetic law, the force of attraction or repulsion between two magnetic poles
varies directly as the of the poles and between them. / ﬂﬁ?ﬂ'ﬂ ffau &
IER, 3 gIDIa yai & dt7, THyur a1 gfaedor 9d, yai st qYT ST o9

9o & R ufkafdd gt 2

1. Heat, strength / 3 ®HI, d¢f
2. Heat, distance / $HWHI, Q_\ﬁ
3. Strength, distance / ¢, @

4. Strength, breaking / &¢f, favsH

Correct Answer :-

e Strength, distance / od], @

62) The radioisotope used to treat cancer tumor and cells is WA 2304 Y AR

DIRBI3M & ITAR T TYa HSARTHRITD, 2l
1. Phosphorus-32/ BIh RY-32
2. Cobalt-60 / DI -60

3. Carbon-14 / HTa-14
4. Cobalt -59/ BIFTeC -59

Correct Answer :-

« Cobalt-60 / BT -60

63) Which is an example for artificial radioactivity substance? / Tﬁ'ﬁ' mﬁmﬁﬁ Udh
ISV B T 82

1. Radium-226 / If&aH-226
2. Potassium-40 / lﬂ?ﬁrqtr-m

3. Uranium / ?@ﬁl’q'q
4. Cobalt-60 / BIETeC-60

Correct Answer :-



« Cobalt-60 / HIHTE-60

64) n a radionuclide generator, if the parent nuclide is Mo, then, what would be its

daughter nuclide? | TP I STYaars s oveR A, afe o gaarss, 20uHai 3, @ sT®T
Siafd (STeR) gadrgs F1 g2

1. 238U
2.11¢
3. 99mTg
4.%2Cu

Correct Answer :-

65) Electric motor is a device that converts . /ﬁ?"q_d ez Udh QHT LE] % il
ufvafdd Har g1

1. Electric energy to mechanical energy / ﬁgﬂﬁ Sl & qiAS SHolf o
N c o C

2. Mechanical energy to electric energy / UllAP Hl Gal [dgdd vl o

3. Magnetic field to electric energy / W & Dl ﬁ_g{qﬂ Solt o

4. Electric energy to magnetic field / ﬁgqﬂ Sl &l gaa%ﬁ PERS]

Correct Answer :-

 Electric energy to mechanical energy / ﬁ_ggqﬁ Sl &1 TiA® SHolf o

66) What does the cell survival curve describe? / BIRIBT ITASIAT ah @ﬁ m
%d) 1 gfofd H3ar 82

1. The relationship between the radiation dose and the number of cells that have gone through

mitosis after irradiation. / fafd=or AT (@GD TUT HIRIBIS P AT & & g, SIRCEUE
& 91 EHfIHSH J ToRd 7

2. The relationship between the radiation dose and the proportion of cells that can produce DNA. /

fafur AT (SoT) TUT ST ST HRA B F&H HIRBIS o SIUTd & did Hae |

3. The relationship between the radiation dose and the number of cells that have not suffered the

loss of a specific function. / fafdHRT AT (SIS TuT fafR1y HR &1 g1 ¥ JRIEa ifRrepraf
P IS & o G |

4. The relationship between the radiation dose and the proportion of cells that survive. / ICIEZ
AT 4T JARSid HIRIDBISM o U & did e |




Correct Answer :-

« The relationship between the radiation dose and the proportion of cells that survive. / fafas=ur

O 9T JARSNd PIRIDBISM o U & sid Jae |

67) Which one of the X-ray contributes no useful information to the image? / CaCK:Il I{Wk, Bfq

& forg forelt STt SR @1 ahTar =75Y Pear 32
1. Photoelectric effect / UPTRT ﬁ_g'{qﬁ UH1d

2. Pair production / JH 3dIG

3. Photodisintegration / UH1I-fque

4. Compton scattering / P U v

Correct Answer :-

» Compton scattering / HIed UPHI0H

68) The number of positive charges in the nucleus is called the of the nucleus. /

e & YT AR B e, e B pEari gl
1. Atomic number / UHTU] THT

2. Mass number / ST AT

3. Atomic weight / UXHIU[ HR

4, Mass weight / GSHIT HR

Correct Answer :-

« Atomic number / UHTU] T

69) Bolus is used for following purposes, EXCEPT for ./ &

3rerraT, daw Frufafad Stxal & e wge gar 2|

1. Increasing the surface dose / ddg HIAI (S\I\Si) ®|c§l:| %ﬁl'q

2. Reducing the electron beam penetration in some parts of the target / I&U & DS U g 3@5@/_"[

fHUTYS U= T A 8
3. Shielding adjacent structure around the target / I&U & IRI 3R et E_sc TR Ui e A

4. Trregular surfaces / fafid a8

Correct Answer :-

« Shielding adjacent structure around the target / ¢1&J & IRI 3R et 3‘5‘ T ufRfer oA



70) What do isotopes have in common? / JURITHD] § T JHH Eﬁ?ﬂ %?

1. The same mass number but different atomic number. / FH GSIHT JHAT U P UHIT]
T |

2. The same proton number and neutron number. / HHI giei- ST aul 'ﬁl\g\ll"l I3 |

3. The same proton number but different neutron number. / HHI e S= LG e ?ET:[
pirel

4. The same neutron number but different proton number. / JHI ri;_l\c;:IJ--I RC3| RO RK | IEERIGE
e

Correct Answer :-

 The same proton number but different neutron number. / JHI gieiH IRe R e ri;l\c;:ll'-l
pireal

71) The intensity of production of X-rays is directly proportional to the product of the
and . | TR DI It &I g, adr & UG & SIHHTIUTT
gt 3

1. Quality, mAs / 7[UTqI, THUTH

2. Tube current, exposure time / F YRT, S JHY

3. Quality, tube current / 0TI, RIS YRT

4. Quality, exposure time / [UIATI, SaaHT HHY

Correct Answer :-

e Tube current, exposure time / RIS YR, ST JHY

72) ray photon has neither mass nor electric charge. / U wlea AT

SoIUT gl ¢ 3X 71 81 fagaasmax giar g1
1. Alpha / 3{cth]
2. Beta / SicT

3. Gamma / TTTHT

4. Neutron / QEIJ:T

Correct Answer :-

e Gamma / TTTHI



Which of the following agencies is responsible for enforcing radiation safety standards? / fafe~or

& S AR B & fore Fafafed § & ot dwar swerit 82
1. ICRP / TSR

2. NRC / TH3RE!

3. NCRP / TSRt

4. UNSCEAR / JEURIISUSR

Correct Answer :-

« NRC / TA3MHT

74) The fraction of the total radioactivity in a sample which is in the form of the desired

radionuclide is known as AY: =|119r | Pd IEarefar a1 33T, ot gifea

YU gaEe S FUA TR, HEI AT g |
1. Radioactivity / YfSaufifar
2. Radioemission / ST IqoIA

O

3. Radionuclide purity / By gIgaeflt s [ dl

4, Radiochemical purity /FsaR™AR® Lexdl

Correct Answer :-

o

« Radionuclide purity / X YIdcllg s el

75) Select appropriate definition for Use factor from the given options. / ﬁt{ e fapeaid A
TN SRS DI Srad TRUTIT BT T4 B

1. The quantity that best describes the weekly radiation use of diagnostic X-ray. / HIAI, S W QW-%

1 ATiiee fafeur wanT gafar wu & gftfd et 2|

2. Quantity that was introduced to select this fractional contact time. / HIZT, S i U 9Hg &1
TG B b T feram |

3. Modify the shielding requirement for a particular barrier by taking into account. / U BIECEICICANY
& XA §U URRED ST hdl R BT

4. Energy of the scatter radiation is equal to the primary radiation. / Ui fafeur ot 35”, It ea
fafaur &% THE B

Correct Answer :-

» Quantity that was introduced to select this fractional contact time. / HII, SR 311 WU THg &1
TG B b fer feram |



